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& SuperLotto Plus

* ticket consists
of

· S "lucky" numbers
chosen

from 1-47#1/1 "Mega number chosen

from 1-27

· No repeat #S
amongst the

Lucky #S.
But the mega

#

can repeat a
Lucky #.

· Order
doesn't matter

for

the lucky #S
. They

are

written in sequential
always

order on a ticket.



pletickets :

⑮-lucky #S mega
#

⑪[lucky #S
-

How many possible tickets

are there ? Choose I mega# from
- the 27

47S 5) : (25)
-

s ofchoose

the 47 lucky #S
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The total of tickets is

47 !

(15) · (2) = 5547-5 ! ·
27

-

S
! =

17!
· 27

:116 . 45 . 44 .43.2 !
It

= n

I
5 ! 42 !

5!42 !· : 43 . 44 . 43 . 27

- 120

=524 ! ] =
41
,
416, 353[possible tickets



&: What's the probability that

if you buy I ticket you win

the jackpot , it you get all

5 lucky #s correct and the

mega # correct?

let S be the sample space

of all possible outcomes that

the magical lottery
machines

can create
.

So
,

1 Sl = 41, 416 ,
353

.

Let E be the event that

all the numbers match your

ticket .

Then IE) = 1
.

I

So
, P(z)
==-
IS) 41 , 416 ,

333



~ 0
.

000002414 %

:Whatistheprobabilities
of the S lucky numbers

correct and not the mega

# correct ? (You bought I ticket)

ket:
Let E be the event

that the

lottery machines
output exactly

3 of your lucky
#S and not

choose 2 that aren't
our

Your mega
#
-

lucky #S

S 47
- 5

( & ( 26 ↓IIE1=) ·

2

-
choose

mega
choose 3 of our lucky #s not OurS



·
You will get :

IEl=22! 26

= 223
,
860

So, 223
,
860

P(z) =T =

6
,
353

~ 0 .

540511 %



The lottery website says
the probability is I in 185

or

# = 0 .
00540541 ...

= 0 . 540541 %



Ex: Suppose five 6-sided

die are rolled .

What's the

probability that
exactly

two of the die have

6's showing ?
-

#
die die die diedie 23 Y

-

sample space size
:

↳
I

S

15) = 6 . 6 . 6 . 6 . 6 = 6



= 7, 776 possible outcomes

LetE be the event that

exactly two 6's occured .
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--

(E) ways to get 5. 5 . 5 = 125

which die have ways to fill in

the 6's remaining die

IEl = (3) · 5" = 10 . 125 = 1250

P(t) = t= 16
.
075 %

-rway :

#1: Pick
where the 2

6's go :

-

16 --

(2) ways

#2: Fill in
the remaining #

I
- 1 -24



5 . 5 . 5 ways

=
combined : (E) . S . S S


